[image: image1.png]e.g./ Let X ~ Bin(n.p) be a count out of n car batteries made by a manufacturer that have

lasted more than 5 years. Then, p is the probability that the battery lasts more than 5 years. We




[image: image2.png]observe X' = 20 out of n = 30. Is the battery more likely to last more than 5 years?




[image: image3.png]i Test Hy:p = VS Hy:p at o = 0.05.

i, If we observe X =20 out of n = 30, p=
The test statistic is Z =.
iii. DR: I 7 . conclude H,. Otherwise, conclude Hy.

iv. Since Z . conclude

Therefore, the battery is likely to last more than 5 years.




(The problem is from Hypotheses Test.)

